Try:

1. JM and MK are tangent to circle L. 2, NA and NO are tangent to circle G.
Find the value of x. Find the value of x.,
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3. Quadrilateral POST is circumscribed about circle Y. 4. Ray kis tangent to circle R.
OR =13 in. and ST = 12in. Find the perimeter of POST. What is the value of y2 ISD
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Chord Properties
Name Theorem Hypothesis Conclusion
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Example: Find the measure of arc HY and HYW. Example: Find the measure of angle DEF.
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Example: {Jse the diagram uf O D. =+ (ZL'D -1s
1. It mAB = 1107, find rraEE."’-—-‘l 10" ] 125
2. WmAC = 150°, find mAB. .
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1. Find the measure of arc YZ if the measure of arc b—( W= 95% 2. Given m;\—é =45 gnd mBC = 22" mED
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 Skills Practice
1. In the diagram below, AB=BD=5and AD=7. s BD tangent to ©C ? Explain.
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2. AB istangentto OC at Aand DB is tangent to OC at D. Find the value of x.
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Name Theorem Hypothesis Conclusion
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Example: Find the measure of HT. Then find the Example: Find the measures of arc CB, BE, and CE.
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Example: Find EF. = 5(23 = ) b I Example: Are segments TQ and UQ congruente
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2. Is segment QS a diameter? Explain your reasoning.
-—_____—-

Q S 1. L _lirea
qo°
2. 'P.NS-CCJ'

P R
S Yea, QRS o &
Ob'a,me'f"-




